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FINANCIAL MANAGEMENT — GENERAL
Ninth Paper
(A3IG)
{Accounting and Finance Group)

Full Marks — 100

Candidates are required to give their answers in their own words as far ds praciica
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(1) Projected annual sale — 26,000 units

- T60

—

e

i

Y4

(11) Selling price per unit

(111) Analysis of selling price
Material — 40%, Labour — 30%, Overhead — 20%, Profit — 10%

(iv) Time Lag -

Raw Materials in stock - 3 weeks

- 4 weeks

- 5 weeks

- 3 weeks

Production process
Credit to debtors

Credit from suppliers







&

Compute net presen yvalue of cash Nows for each machine assuming
cost of capital 10%, Which machine the company should buy?

I'he present value of Re. 1 at 10% 1s as follows

Y, - 0909, Y, - 0826, Y, - 0.75%, Y, — 0.683
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s& | Calculate different types of Leverages and EPS of ABC Lid from the
following informution
Equity share capital
(12,000 shares @ T 10 ench) T1,20.,000
Remined Earmnings 240,000

¥ 1.60,000

2 12,00,000
T 1,00,000

405

40%

10¥%E Debentures
lurnover
Fixed operating cosl
Variable opernting cost rtio
Income tax ralc
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The figures in the margin indicate full marks

Group — A
fa} State two functions of financial management.
or
What is ‘investment decision™?
(b) Write two functions of the Chief Financial Officer.
{c) Define marginal cost of capital.
(d) What iz 'bonus share!
Or
Name any two sources of long-lerm finance.
{e) What is working capital management?
(f) What is permanent working capital?
r
What do you mean by temporary working capital?
{g) What is 'Accounting Rate of Retum'?
r
What is ‘Discounted Cash Flow'?

(h) State whether following statements are true or false
(1)
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Depreciation on fixed assets is an out-of-pocket cosl.

{ii) Payback period method does not consider time value of moncy.
(i) Define 'Final Dividend',

(1) Swte two assumptions of Walter's Model,

Or
What is dividend-irrelevance theory?

Tl
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Group - B

2. Da you think thu wealth maximisation is a better goal of a firm than
profit maximisation? Why?

3. From the information given below, estimate the working capital
requirement of the firm :

(a) Projected annual sale
(b) Selling price per unit
(c) Analysis of sclling prce

Y. T P T

= 26,000 units
- T 60
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(1) State two assumptions of “’-'.’Irll_'r-ﬁ h'I{HjL"J 2
Or z
What is dlwdtnd-wrc!m'nm:c theory?
< 7
Group - 3 e
2. Do you think that wealth maximisation is a beyer goal of a firm than
prodinl maximisation? Why? iy
i, From .[|;IJ Information given helow eslimate the working capiial I
requircment ol the firm -
{a) Prajected annual sale = 26,000 units
(b) Selling price PEr unii = < 60
(c) Analysis of selling price
Matenal — 40%, Labour — 30%. Overhead — 20%, Profit — 10%
(d) Time Lag -
Raw Materials in stock 3 weeks
Production process - 4 weeks
Credit 1o deblors 5 weeks
Credit from supphers - 3 weeks
Lag in payment of wages and overheads — 2 weeks
Fimshed goods are in warchouse - 2 weeks
(e} Cash in hand is expected to be 10% of net w orking capital. 6
ﬂr
Explain the concepts of ‘Net-Working Capital’ and "Working Capital
Cycle’ in brief 343

4. What do you mean by specific cost of capital? Why do we use
weighted average cost of capital? 2+4
5. From the following information relating to A Lid., determine the

market price of shares using Gordon's Model -

Total investment in assets T 10.00,000

MNo. of shares 50,000

Total earnings T 2.00,000

Cost of capital 16% ,

Pay-out ratio 40% i Lﬁ
(i

Expluin in briefl the types,of dividend policies:— 6

6. What is capital budgeting? Write brief notes on any two Lypes of
project 244

i

Compute the pay-back period for the praject from the fﬂ”ﬂwmg
informalion :

Cost of Assel - 100

Depreciation — 1 5% under straight line method

Profit after tax for the five years —

Year | - T15, Year 2 - T20, Year 3 - 725, Year 4 — T30, Year 5 - 235 6

Group — C
7. (a) Define financial market.
(b) How would you explain the risk-reurn relationship? dic
Or
(a) The present value of certain sum of money is more valuable
than the fulure value of the sume amount, — Explain with reasons. A

(b) Dr. Kanjilal is given the following two options by his employer
the time of his retirement :
Option 1 —  An annual pension of T 50,000 s long as he lives
Option II — A lump sum payment of 2 3,00.000
If he expeets o live for 15 vears and his time preference for money
is 129, which option should he choose
[ Given PVIF,, , = 6811 -
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8. X Lid. ig -
5 Presently “Onsidering 1w
(A

Information related 1 (he machines are eiven h-:lq:.:“:uhmh Tor purchage.
Purchase price Machine | Machine 2
Estimated life 130000 260,000
hl'!clhﬂd of depreciation : years 4 years
Estimated scrap value : l.Nll.Ilm: St I..mu
Cash Flow before depreciation ang l-ax}' ol

Year 225000 745000
‘:’:; E 3 ES.HDD T 19,000
Yei i ; 25,000 ¥25,000

25,000 ¥ 27,000

Rate of tax is 509
- Cmnpuifr nel present value of cash flows for cach machine assuming
cost ufuprm] 10%. Which machine the company should buy?

The present value of Re. 1 gt 10% is as follows :

Y, - 0.909, Y, — 0.826, Y, -0.751, Y, - 0.683 10
lﬂ. Discuss five recommendations of Chore Committee in regard 1o bank
lending for working capital finance. 10
Or
Discuss any two strategies of financing current assets. 10

10. Calculate different types of Leverages and EPS of ABC Lid from the
following information :
Equity share capital
(12,000 shares @ ¥ 10 each) Z1,20,000

Retained Earnings T 40,000

10% Debentures < 1,60,000

Turnover T 12,00,000

Fixed operating cost ¢ 1,00,000

Variable operating cost ratio 40%

Income tax rate 40% 10

Or
What is Optimum Capital Structure? What arc its features? 446

11. What is financial control? Discuss its significance. Name any two tools

of financial control. 24642
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3. Who is an unpaid seller of goods? What are the nghts of an unpaid seller
of poods?

i

Make a distinction between condition and warranty under the Sale of Goods
Act, 1930.

4. Cananew partnership be constituted with a minor? Discuss the legal position
of minor in a partnership firm.

5. Define Promissory note. *1 promise to give you Rs.5,000 and the balance
amount on 7th August, 2017". Is it a valid promissory note?

6. Discuss the composition and objectives of the Central Consumer Protection
Council under the Consumer Protection Act, 1986.

7. Distinguish between a Public Company and a Private Company.
r

Discuss the procedure for Conversion of a Public Company into a Private
Company.

Group-C

8. "An agreement made without consideration cannot be enforced.” Explain it
with the exceptions to this rule.

Or
(a) Who is competent to contract?
(b) *An agreement with a minor is void". Explain it.
9. (a) Discuss the doctrine of 'Ultra-Vires'.

(b) Explain the procedure to be followed for registration of a Public
Company.

10. (a) What do you understand by ‘Buy Back of Shares'? State, briefly, the
provisions for buy back of shares under the Companies Act.

(b) Distinguish between Equity Shares and Preference Shares.

1. What is Quorum of a meeting? Discuss the provisions in the Companies Act
regarding Convening of Annual General Meeting.

Or

“Directors are not only agents, but are also in some sense trustee of the
Company.” Discuss the statement.

244
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4+8

2+4

4+8
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6. State the objectives of the Consumer Protection Act, 1986. 6
7. Define Memorandum of Association. State the clauses it contains 2+4
Or
Explain the Doctrine of Indoor Management. 6
Group - C

8. “All contracts are agreements but all agreements are not contracts™. Explain

the statement with example. 12
Or

How an offer is made, accepted and revoked? Discuss. 12

9. (a) Distinguish between Private Compuny and Public Company. 6

(b) Explain the Legal Status of Promoters. 6

10. (a) Discuss the different types of Preference Shares. b

_ (b) Distinguish between Shares and Stock. 6

11. Discuss the powers and duties of directors of a Company 12
Or

State the provisions in the Companies Act for holding of Annual General ©

Meeting of a Company.
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1. Answer the following questions 25
(o) Define Power Set. ITA = [ 1. 2], then lind the power set of A,
() If ', = "*C..y, then find "C,
i*r
I "1y = 20, then find n
(¢) How many dilferent mrmangements can be made with the letters of
the wond "UGENTLEMEN™ 7
W) WA= (L2,),4),B= (24,5,8),C* (3,4,5,6,7),
find A (BAC)
Or
Find A (Bw C) for the above sets.
(e} If the algebraic sum of the deviations of 30 observations measured
Irom 40 is (-335), then find the A M. of the observations,
(O
I. GM. of a, 4 and 8 be 6, Tind a.
Group-R
4=ty

Answer the following questions :
(a) How many numbers of different digits lying between 100 and 1000
can be formed with the digits 2, 3, 4, 0, 8, 9 each being used only once 7
r
Show that °C, + "C,., =""'C,.
() If x=log,lbe), y=log,ca) and == log,(ab), show that

I | |

o m—
x+]l y+l z+]

Or
Solve for x if log, 2+log, 4+log, 8=6.

1!
(¢) Find the coefficient of x"' in the expansion of [_11 _IT_] ;
: (d) Prove that for any two sets A and B, (AU BY* = A~ BE, where
A" denotes the complement of the set A,
Or

Each student in a class of 40, plags at least oneJul the
Jih, le”l‘.'l" amd cricket in F‘r‘i} I'l"ﬂ-'l'-'n':i. %[i\ql“l;\"l . kvl }l’.ﬂr:::::

hockey and football, 14 football and cricket and 4 hockey, foollY! and ericket.
Find the number of students who play hockey and cricket but not fhotball

(e} The arithmetic mean of the following distribution is 72.5. Find A

and /. Total number of students is 100 ¢
Marks 30-39 40-49 50-59 60-69 70-79 §0-39 90-99
No, of Students : 2 3 1 1 32 fy 7

(1
The AM. of 25 observations j¢ 44 ]




e~ ooToeemsoawnoauy WO SCIS A ANd B {..“!.L_JB:I‘ = ,-'\Ln'"i HL. where
A° denotes the complement of the sel A,
Or

Each student i I 2 »
5 ach student in a class of 40; plaxsat least onefof the fames

ottt g Y Py hookey 90 football Ok icket, 5 plav
hockey and football, 14 football and cricket and.£ hockey, foott$] and crEcTuE.

Find the number of students who play hockey and crickei not fhotball.

(¢) The arithmetic mean of he following distribution is 72,5, Find £
and £, . Total number of students i5 100 :

Marks : 30-39 4049 50-59 60-69 70-79 80-89 90-g99
No. of Students : 2 3 11 b2 32 1 7

Or
The AM. of 25 observations is 44: later on j| was reporied

that two of the observations 34 and 46 copied wrongly as 28 and 42 Find
the actual A.M.

: (f) Find the median of the following distribution :
Weight (in pounds) : 110-114 115-] 19 120-124 125-129 130-134 135-139
No. of persons : 7 20 28 22 13 4

Group - C

3. (a) The original value of a machine is Rs. 24,537, Each year il is
depreciated by 18% of its value at the beginning of the year. In what time will
the value of the machine be one tenth of the original value 7
[It is given that log(0.82) = - 0.0862). 4

(b) A man buys a house of Rs 60,00,000 on condition that he
will pay Rs. 30,00,000 cash down and the balance in 10 equal annual
instalments, the first to be paid one year afier the date of purchase. Calculate
the amount of each instalment, compound interest being computed @5% p.a.

[Given (1.05)™ = 0.6139]. 4
4. (a) For the following data, draw a histogram : 4
Class Limits :  10-19 20-29 30-39 40-49 S0-59 60-69 70-79 80-89
Frequency : 5 9 14 20 29 15 8 4
Or
Discuss, in brief, the importance and scope of statistics in business
and economics. 4

(b) From the following data, form a frequency distribution of eight
classes by tally marks. Find also the percentage frequency and cumulative
frequency both types : 4

42, 37, 17, 81, 60, 25, 50, 33, 53, 48, 57, 81, 65, 58, 28,
71,78, 89,43, 47, 11, 58, 26, 23, 82, 73, 22. 44, 31, 58,
14,75, 16, 83, 24, 36, 35, 47, 40, 76, 89, 37, 27, 49, 56,
77, 81, 20, 45, 30.
Or . S
Draw up a blank table to show the number of students reading in

Ist, 2nd and 3rd year class (Pass and Honours) of a certain college in the

faculties of Arts, Science and Commerce in the year 2016. 4
Module -2
Group — A

2x5

3. Answer the following questions : ;
(@) If the first moment of a distribution is 2 about the value 2, find the

mearn.

O _[Turm Over]







I | aw Zu I £ 13 10

(b) From the following data, find an appropriate regression eguation
and predict the value of y forx =25 '

xl1j2i3la]l5]7]10]

— o —y— 4

yi2]2]5]4]6]9]12]
Or

The coefficient of rank correlation of the marks obtained by 10
students in Mathematics and Statistics was found 1o be 0.8. It was then detected
that the diflerence In ranks in the two subjects for one particular student was
wrongly taken 1o be 3 in place of 7. What should be the correct rank correlation
coefficient 7

¢) Calculaie the Pearson's measure of skewness on the hasic of Mean,
ie and Standard Deviation
‘.. \.‘_._ 10 | an _; i -_,I-.'_ 1'; :.__ 5 i 10 _l.'_. | 1< _an
H35."‘J-.4F 1007125 rﬂ_l'.r:r.
| i
3 = . - -
The A of a certain distribution is 5. The second and the third

moments ahput the mean are 20 and 140 respectively. Find the third moment of
the distribution about 10.

=" (d) Using Inverse Interpolation formula, find the value of x when
y =13 from the following table

(¢) Compute the seasonal index quarterly average for the following

data :
_Year | Ist Quarter | 2nd Quarter | 3rd Quarter | 4th Quarer
2010 75 60 T [T
2011 86 65 63 80
2012 90 72 66 g5
2013 100 78 72 93
Group-C

7. (a) Construct 5-yearly moving averages of the number of students
studying in a college shown below :
Year 2004 | 2005 | 2006 | 2007 | 2008 | 2009
No. of Students | 332 | 317 | 357 | 392 | 402 | 405

Year 2010 | 2011 | 2012 | 2013 | 2014 | 2015
Mo, of Students | 410 | 427 | 405 431 | 467 | 483
Or
Fit a straight line trend equation by the method of least squares
and estimate the trend values :
Year | 2008 | 2009 | 2010 | 2011
Values | 117 | 123_].130,).439
mmummhwnn,
)| Find the coefTicient of variation :
& 70, 25, 50, 85, 45, 65, 20, 40.

g. (a) Frequency distribution of marks of 100 students are given below.

Calculate the mean deviation from mean.
Numbers : 20-29 30-39 40-49 50-59 60-69 7T0-79 B80-89

No.of Students : 5 15 18 26 16 14 5
Or
Find the Quartile deviation of the above data.
(b) Using the following data, verify that Paasche’s formula does not
satisfy Factor Reversal Test :

2016
170

2013 |

: Base Year Current Year
Commodity "5rice | Quantity | Price | Quantity
X 4 10 6 15
> 6 15 4 20
7 [ g 10 4
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The figures in the margin indicate full marks

Module - 1
Group - A
. Answer the following questions 2%5
(@) If"P,:"P,=2:1, find the value of n.
Or
If °"C, =56 and "P, =336, find n and a
(b) Find the number of different odd numbers of 5 digits that can be
formed with the digits 1, 2,3, 4, 5, 6 without repention
(c) Find the power set of {2,3,5)
O
Given A={1,2,3] and B={4,6,8].Find AxB
(d) For a distribution, Arithmetic mean = Rs. 22, Median = Rs. 20,
then find the value of mode.
O
What are the characteristics of Statistics?
(e) If A=]x:xisanatural numberand x<6 ], B={x:x is the
natural number and 3<x <8}, find A-8 and ANEB
Group-B
2. Answer the following quesiions 4x6

(a) From 6 bowlers, 2 wicket-keepers and 8 batsmen; in how many
ways a team of 11 players consisting of at least 4 bowlers, 1 wicket-keeper and at
least 5 batsmen can be formed?

Or

A committee of 7 is to be chosen from 13 students of whom 6 are
science students and 7 are commerce students. In how many ways can the
selection be made so as to retain a majority in the committee for commerce

students?

{b) Prove that, Ic:rgq[ V3. o )=I 3

Or

a+hb

1 b
If |‘-‘@( J=;—{|ﬂgﬂ+1ngb]. show that ‘E-ir:: 7.

th i . a7
(c) If the coefficient of (r +3)" term in the expansion of (1+.x)" be

H th e . i =
the same as the coefficient of (3r + 2)" term, find these two terms.

(d) In a class of 100 students, 55 students read History, 41 students
read English and 25 students read both the subjects. Find the number of students
whao study neither of the subjects.

or
For any three seis A, 8, C ; prove that
v AX(BAC)=(AXB)N(A%C)

(¢) Calculate about median and mode from the following data ©

Class-intervals 2-4 | 4-6|6-8 ] 8~10
Frequency 3 4 2 |







- 4 '

(b) Given Coefficient of Skewness =-0475, Mean =64 and
Median =66 . Find the value of S.D.

R
_ If the second and third central moments
I2 respectively, find the skewness of the distribution.
(c)
and vy is 0.52, i}

of a distribution be 4 and

Karl Pearson's coefficient of correlation between two variables x
weir covariance is 7.8. If the variance of x is 16, find the S.D. of v.

(d) If the two regression coefficients are b,=-04 and b_=-09,

find the value of the correlation coefficient o

(¢) Construct the difference table from the following set of values :
T il o e O
FIRERE IR E
Or :
Distinguish between interpolation and extrapolation.

Group - B
6. Answer the following questions - 4x5

(a) The first three moments about the value 2 are 4, 65 and 325

respectively. Find the mean, S.D., the moment measure of skewness of the

distribution.
Or
Find the appropriate measure of skewness from the following '
distribution :
Class Interval ‘| Lessthan25 | 25-35 | 35-45 | 45- 35 | 55-65 | 65 and above
Frequency - 4 1 19 14 10 9
(b) Calculate the correlation coefficient of the following data: |

x:]63T60 [ 67 [ 70 [ 61 [ g9 | |
L yl:l 61| 65| 64 | 63 | 63 68 |

I
Or '
You are given that variance of 1=36. The regression equations

are 60x—27y=321 and 12x—15y+99=0. Find the correlation coefficient
between the variables: the average values of x and v ; the S.D. of y.

(c) Applying suitable interpolation formula, find the value of vy when

x =7 for the data given : P 3

o (] O T (T g

yilai 4 |16 38 | 57
(d) If the ratio between Laspeyre's index number and Paasche’s index

number is 28 : 27, find the missing figure in the following table :

¥
i

_ Base year Current year
Sommooky Price | Quantity | Price | Quantity
X | 10 2 5
Y 20 |3 ? 2e80

(¢) Explain briefly the components of time series.
Or




. R .
! ‘." l 4 ”*‘ K ‘ 57 ‘

(i 1If the ratio between Laspeyre's index number and P
number is 28 : 27, find the missing figure in the following table

nsche's index

Commodiny "-lr' o Cuorrent year
Price | Quanthy Price | Quantity
~ | i) ¢ 5
Y ., L] i -
(e) I':!.l]lillll |'|-|jr_'r|?,' the components of time series,
fir
Lonstruct seasonal indices from the following time series data
arter -
Yew | [ MM W
2004 0| 751 BT | N0
2018 15| 840 | 78 | 75
2006 8O | 75 | 715 | 712

Group - C

7. (a)  Fitaleast squares trend line to the following data :

Year 2008 | 2009 | 2010 | 2011 | 2012 | 2003 | 2004 |

Average |-11'UI_|IIL'1 M

per month (0000 tons)

) Hence find m.l.";\-'um_gc production per month in the year 2017, 6

r
For the following series of observations, verify that the 4-year

centred moving averages are equivalent to a 5-year weighted moving average
with weights 1, 2, 2, 2, 1 respectively :
Year 2006 | 2007 | 2008 | 2009 | 2000 | 2011 | 2012 [2003|2014{2015{2016

Sules (Rs,D000) | : 2 fi 1 5 3 T 2 6| 4 ] k]

(b) The mean and S.D. calculated from 10 observations are 9.5_ and
2.5 respectively. If an additional observations 15 be included in the calculations,

0 22 21 24 25 23 24

find the mean and S.D. of these 11 observations. 4

8 (a) From the following data, prove that Fisher's Ideal formula satisfies

hoth Time Reversal and Factor Reversal Tests of index number :
: Basc year Current year
Commodity [=ore T Quantity | Price | Quanity

A 4 20 6 1%

B 5 15 f 12

C 2 30 3 30

D 3 25 5 28 .

(b) Distinguish between absolute dispersion and relative dispersion.
Or

Find standard deviation from the following data :
1,2.3.4,5,6,7.8,9,10.

w0l )

L g
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The figures in the margin indicate full marks
Muodule - 1
(Principles of Management)
Group — A
1. Amnswer the following questions : 2x5
(a) Mention any four functions of management.
Or
What is universality of management?
(b) What are the levels of management?
(c) Define Organisation.
Or
What is Delegation of Authority?
(d) What s Departmentation?
e} “Control is one of the most important funclion of management'
— Explain.
(/s
“Conirol 15 a conlinuous process”™ — Explain.
Group - B
2. Answer the following questions 4=4
(a) What is line and staff organisation? State its advantages.
Or
Explain the concept of span of management and state its advantages
(b) Discuss the benefits of motivation.
Or
Discuss in brief the Need Hicrarchy Theory of Abraham Maslow.
(¢) What are the differences between the theories of Maslow and
Herzberg?
(d) Discuss the importance of co-ordination in management,
Group - C
E--n,-ni () Discuss in bricf the principles of management advocated by Henry
L 3 - E
Or
. Compare hclf-w:cn the contributions of Taylor and Fayol. B
(b) Define planning. Discuss the steps in planning. 246
Or
Define Stratep| - " ; _
: ¢ Strategic planning, Explain the importance of strategic
planning.
2+6

ic) Whatis leadership? Discuss its

importance, 246
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